Relation of LCM&H‘C-F

NO. OF QUESTIONS MAXIMUM DAYS CLASS DURATION

10 Questions 1 DAY 2HOURS .







' Relationship between LCM & HCF '




CLASS EXERCISE
If the HCF of two numbers i @ d their LCM i§770§ %vhile one
number is 275 thenanother number ? P HCF 11 %

3R ITT LCM 7700 & STald U HET 275 § df gos) WS ?

i) 308 i) 311 iii) 416

none of these 4

N\ml?"‘”/

iv)



CLASS EXERCISE
The product of the two numbers is f their HCF is 8
then LCM will be ? & H&T3T &1 JUr-ther 1280 & Afg

3P UIHIUP 8 & o TAHITH gHT?
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" CLASS EXERCISE

Which efthe given pairs have H.C.F. a@nd L.C.M. as 105? &6/
5 and 105 (b) 15 and 1052 %15 and 35
(d) All of these (e) None of these
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If the LCM of x & nc(@i@what is the H.C.F. of xand y?
xy xk —-——yk
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CLASS EXERCISE
If HCF of two numbers is 13 and LCM(455 ) If one of the numbers is

between 75 and 125 then fmd another number? ﬂﬁ 331 F@Téﬁ |

HCF 13 3R LOM 455 8 1 T TS ST 75 3R 125 &
4 8 df ORI WAL DI
i) 65 i) 91 W i) 101 iv)
none ofthese/u‘{ b | N=Hw @
0‘/0""3{ bmb K. . \ = -]%b
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CLASS EXERCISE

The HCF of two numbers i hich of the following can(never)
be thei¢ LOM?) &l H&ITSHT 70T HCF 8 &, Fraferfea @
Ut 78T 81 e
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Relation of LCM & HCF

MAXIMUM DAYS CLASS DURATION

10 Questions 1 DAY 2 HOURS




- Relationship between LCM & HCF '




If the HCF of two numbers is 11 and their LCM ig. 7700 while one
number is 275 then another number ?Fﬁ T:.'bf HST3HT BT HQF 11 %
3R IT LCM 7700 & ST Tah TBAT 275 © dl gus} ST ?

1) 308 i) 311 iii) 416 iv)
none of these



CLASS EXERCISE

The product of the two numbers is 1280 if their HCF is 8
then LCM will be ? 3! H&I3{T T UGS 1280 ¢ Al

3P UGHIUP 8 & o TAHITH BH?



Which of the given pairs have H.C.F. as 5 and L.C.M. as 105?
(a) 5 and 105 (b) 15 and 105 (c) 15 and 35
(d) All of these (e) None of these



CLASS EXERCISE

If the LCM of x and y is k, what is the H.C.F. of xand y?
xy xk vk
@3 (b ()% (d) xy



If HCF of two numbers is 13 and LCM 455 . If one of the nqmbers IS
between 75 and 125 then find another number? Ilﬁ 3." F@T&ﬁ )|

HCF 13 3R LCM 45521 e ST A UF AT 75 3R 125 F
m%ﬂmmm%?

1) 65 ii) 91 iii) 101 iv)
none of these



CLASS EXERCISE

The HCF of two numbers is 8 which of the following can never

be their LCM?E’I'\‘T@TGﬁW HCF sé,ﬁ?ﬁlﬁaﬁﬁﬁq
36T LCM FHt 181 81 Ihd1 27

i) 60 i) 24 iii) 48 iv) 56



CLASS EXERCISE

If HCF and LCM of two numbers are 29 and 4147. Find the sum of
both numbers if both numbers are greater than 29? ’qﬁ ff ST

®T HCF 3MY LCM 29 3R 4147 g1 afe SI-1 T=AT8 29 W 981 8
al ST SBT3 BT I JTd HIfore?

i) 696 ii) 448 iii) 496 iv)
none of these



CLASS EXERCISE

The product of two numbers is 4107 if the HCF of these numbers is
37 then find the greater number? Sl T3 BT U<t 4107
2 gfe 39 YB13il BT HCF 37 8 @ 3% 931 W& 91
?
_iv) none

DItorg
1) 208 i) 111
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CLASS EXERCISE

If the product of two numbers is 2028 and theil HCF is 1\;>then
find how many such pairs of numbers are possible:

BT BT UGS 2028 § 3R ITBT HCF 13 8, a‘(Qﬁ
fhaa WIS IHT &7

)3 i) 1 i) 2 iv) none of these
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If HCF and product of two number is 15 and 6300

respectively. Find the possible pair of such numbers? aig
HCF 3R g1 W1 1 UG d & SHURT: 15 3% 6300 B
ot S@Inedt BT HHITdd T J|Td Hifore?

) 4 i) 3 lii) 2 iv) none of
these




CLASS EXERCISE

HCF and LCM of two number is 17 and 408 . How many pairs of
such numbers are possible ? &l TWT3HT BT HCF 3R LCM 17

3R 408 8| THT T@T3il & fhd WIS THT &7
) 2 i) 3 iii) 4 iv) none of
these



HCF and LCM of two numbers is 12 and 924 respectively.
Then find the number of possible pairs of the numbers is?

&l T&T3if BT HCF 3R LCM ST 12 3R 924 &1
T3t & FUTad TH| Bt TBAT JTd DIOIE?

1) 0 i) 1 jii) 2 Iv) none of
these




CLASS EXERCISE

The sum of two numbers is 36 and their HCF is 4 . How many
pairs of such numbers are possible? Sl IST3H BT AR 36 %

3R ITBTHCF 4 2 | 0t JB13M & fhaa oiie 4T &2

i) 1 i) 2 ji) 3 iv) none
of these



CLASS EXERCISE

The ratio of HCF and LCM of two numbersis aand b are 1 : 30.
The difference between the HCF and LCM is 493. Find the

possible num irs of a and b? abf'\‘i'@Téﬁa ARb®
HCFGﬁLCMW%ﬁ1 30 81 HCF 3R LCM & 19

T 3T 493 B a 31X b F THTAT SIS & F=I §1d

PIfoTg? ot L_(W

) 2 i) 1 4{ 4 %.v){( @
- (X7
j?’ﬂfo W






CLASS EXERCISE

If two numbers are in the ratio 3 : 4 if their HCF is 4 then their

LCM will be? Tfe & TWITT 3 : 4 & 3UTd A § afe ITHT
HCF 4 & df 39T LCM BITTI?
i) 36 ii) 48 i) 42 iv)

none of th
m
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CLASS EXERCISE

If two numbers are in the ratio 3 : 4 if their HCF is 4 then their

LCM will be? TfE Y TWATT 3 : 4 & ATUTT A € Al ST
HCF4 gl HUIE,
i) 36
none of these




CLASS EXERCISE

Three numbers are in thg ratio 3:4:5 if their LFM is 2400 then find
their HCF is ? 1< T&ITU 3:4: # g afe I9&T1LCM
2400 & @ I9PT HCF FTd
i) 40 ii) 48 iii) 46 Iv) none of
these
a b
N\’/\j@o
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CLASS EXERCISE

If HCF of two numbers are 23 and other two fz
en find the greatest of the number ? <

Td HIfIg?

;ng%aﬁucm%maﬁgummmaﬁvma‘r

i) 322 ii) 248 iii) 346

iv) none of these



CLASS EXERCISE

The product of LCM and HCF of two numbers i

between these two numbers is 2 then find numbers ? W&ﬁ

% LCM_3R HCF T UMW e 24 § Tfe 31 g1 At &1

a2 & a1 WATE JTd PIfere? [RICY
N
688 i) 864 J)/sas —

iv) none of these



CLASS EXERCISE

LCM of two numbers is 495 and their HCF is 5 if sum of those
number is 100 find their difference ? a BT BT LCM 495
8, STBTHCF 5 € Tfe I GET3il BT AT 100 § &t ITHT
3 JTd B2

1) 10 i) 20 iii) 35 iv)
none of these






The sum of the HCF and LCM of the two numbers is 680
and their LCM is 84 times HCF. If one humber is 56 then
find another number? &I T&I131f & HCF 3% LCM &1 911
680 & 3 ITBTLCM , HCF T 84 TAT 81 If U T&m

56 8 df gHN] TSI JTd PHOIL?

1) 84 i) 12 iii) 96 V) none
of these



CLASS EXERCISE

The LCM of two numbers is 44 times their HCF. The sum of .LCM
and HCF is 1125. If one number is 25 and the other is? E:I ?T@TGﬁ
T LCM 3% HCF BT 44 T[T g1 LCM 3MIX HCF T TRT 1125

£ 1 gfe s T=T 25 © 3R gl 27

i) 1100 ii) 975 iii) 900 iv) 800



CLASS EXERCISE

Three Numbers which are co-prime to one another are such
that the product of the first two is 551 and that of the last two
is 1073. Find the sum of three numbers? <1+ W@TQ ol Uh-

DI TE- f& UL TS
W&rﬁ:{g ﬁa{m 1%73 ;ngﬁ%aﬁ L) !ﬂ?‘? ;rra

DIToTY?
1) 75 i) 81 iii) 85 iv)
none of these




CLASS EXERCISE

If HCFofaand bis 12 whilea>b > 12 . Then find the smallest
possible pair forg, b) is - Uﬁ.’ a 3fIY b BT HCF 12 ,Gﬁﬁ? a>b>

128 1 91 (a, b) & foIT Y& Bier §Ha TiH FTd Il -
i) 12, 24 i) 24 , 12 iii) 24 , 36
iv) 36, 24

SSC CGL Pre 2014 , 2018






ADVANCED BOOK ASSIGNMENT QUESTION

QUESTION NO:
1,2,3,5,6,7,8,9,14,15,16,17,19,24,25,26,30,
31,32,33,34,35,37,38,39,41,42,43,45,46,47,48,50,51,
67,68,69,71,74,76,78,79,80,81,82,83



LCM & HCF of Fractional

Numbers




" CLASS EXERCISE

2 4 8

i — — Y
Find the L.C.M & H.C.F of ~¥ 4



CLASS EXERCISE

2 4 8

i — — Y
Find the L.C.M & H.C.F of ~¥ 4

LCMof (2,4,8)  2x2x2
HCF of (3,6,27) 3

Sol. LCM= =§

HCF of (2,4,8 2 1
HCF= 229 - 2.2
LCM of (3,6,27) 54 27




CLASS EXERCISE

Find the correct relationship between HCF and LCM
2,4 4 2

4,4 4 4

Sol. In First row LCM > HCF

In second row LCM = HCF
o Answer= HCF £ LCM









Q.4 A vendor has 3 kinds of shakes i.e. chocolate, strawberry and

Sol.

banana. He has 204 liters of chocolate shake, 170 liters of
strawberry shake and 374 liters of banana shake. He wants to
fill them in bottles of equal sizes - such that each of the variety
Is filled completely. How many options for the size of bottle
does the vendor have?

H.C.F. = 34
The number of bottle sizes can be given by t;a('&qgrgg; i'ac;ofszoflt}u% J1.C.F. of the

quantity = Size of bottles=1, 2,17, 34

of 3 varieties ~ Options for sizes are 4
= H.C.F. of 204, 170 and 374

204 =34 x2x%x2x2
170=34 x5
374 =34 x 11



